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(2)  In Multiple Choice Questions write the answers.

Explain the concepts of personal income and per capita income.

OR
“N?tinnﬂl income is a coin with three sides”, Explain the statement.
Write a note on trends of National Income and Per Capita Income in India.

OR
What are the difficulties in measuring National Income 2
Explain the expenditure method of measuring National Income.

OR

Specify the coricept of Net Domestic Praduct!

What is money ? Give an explanation of the functions of money.

OR |
Explain the cash balance equation of money.
State the factors affecting Money Supply.

OR
Elucidate the quantitative instruments of Credit Control.

Give the meaning of credit and describe its importance.

OR
Compare Fisher and Cambridge equations.

-

Explain the various concepts of Consumption Function.

OR
Evaluate the concept of Investment Multiplier.

‘What is effective demand ? Give an explanation of its constituents.

OR
State the factors affecting marginal efficiency of capital.

Explain Ke

OR
“Supply creates its own demand”. Explain this statement.

3

ynes employment output equilibrium with help of diagrams.
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4. (a) Explain the factors responsible for inflation.
OR
Cntically evaluate the Liquidity Preference theory of Interest.
(b) Give the meaning of trade cycles and discuss its characteristics.
OR
Explain the factors affecting interest rates.
(¢) Elucidate the effects of inflation.
OR
Explain inflationary gap with the help of diagram.

5. M.C.Qs.: (any Seven)
(1) Per Capita income meany

(3) Personal income (b) Disposable income

(¢) Average income (d) Income of every citizén
(2) What are the constituents of total expenditure in an open economy:?

() T+l ®b) C+I+G

£ CHI1+G+x d C+1+G+(x-m)

(3) In the creation of paper money system in India, the government has to keep a
minimum of ¥ 200 crores reserves. Of these reserves how much gold reserves

does it have to keep ?
(a) 110 crores (b) 85 crores
(c) 115 crores (d) 100crores -
(#) 'Who from the following has accepted the Liquidity approach to Money Supply ?
~ ~a) RB.L (b) « Milton Friedman
(¢) ..Gurley and Shaw ~ . (d)” Radcliffe Committee

(3) Which of the following equations explains.the following ?
Demand for Money = Supply of Meney

19

(a) Cambridge equation (b) Equation of exchange
(c) Keynes equation (d) Milton Friedman equation
(6) From the following instrument which instrument is the quantitative instrument of
?redit Control ? -
a) Bank Rate (b) Moral Persuasion
(c) Margin (d) Publicity *©
(7) While controlling inflation public expenditure falls under which policy ?
(a) Moretary Policy (b) Administrative Policy
(c) _Income Policy (d) Fiscal Policy
(8) Formula for investment multiplier -
- AY
- F(a) K=Exlﬂﬁ (b) K=%+1oo
() . K=AY x Al d K =%
(9) At times of inflation imports
(a) Decreases (b) Increases
(c) 'Remains constant (d) None of these
(10) Marginal Propensity to Save is 0.25, then Marginal Propensity to consume is
(a) 0.55 (b) 045
() 0.75 (d) 0.50




